B.Sc. Sem-1 — PHYSICS - CCPHY- 101
Assignment -1 (Unit-1 & 4) Aug-2022

‘ua- A 'zxuﬂa YAlsll ellel [aotctcue Al (lee the answer in detalls)
1 28 AR Mot AR AJRUSIR anendl, 7 AX(B xC)=(A .C)B-(4 B)C
Aoy Andl (Explain triple vectors product and gets relation4 X( B x C) =
(A.C)B-(4.B)C)
2. Y SlaAdSUe] YA AWl AUA Ut 52\ (Write and prove guess divergence
theorem)

%qci&ﬂ ueﬂau ogcllol uun (lee MCQ answer)

1. 8@( aaa 2l ? (What s curl ?)

(@) ul&al dQust(vector product)  (b) A(E2 IRUSIR(scalar product)
c) U 2A AR (vector addition )  (d) (22 ARG (scalar addition)

fw!

2. Yoldl AR 8.( Density is a physical quantity.)
(@) UR (Scalar)  (b) U (vector) (c) AUR HA AR (scalar and vector)
d) AFA ol (none of these)
3. A e(xy,z) =2xy-y?2? daAdl(1,-2-1) g w0 ve = (If B(x,y,2) =2x%y
-y, Vp = at point( 1,-2,-1).)
(@)-12i-97-16k (b)-8i+65+8k (c)12i+9j+16k (d)8i-67-8Kk
4. URAF o slaaws 56 Asitell 2% AL (By which symbol diversion of vector F is
explain ?)
~(a) [Fda (b)) VxF () fFdl (d)V.F
C O{i.llctl owcllol AUl (Write answer to all)
Dﬂctd]. uﬂu Sl?.lcl"?aﬂ YA WYl ddl. (Derive green theorem using dlvergence
theorem)
2. F= (3x+4y ) I + (6y-z) T +(x-z) k& R divF OLQT
~(calculate div F for F = (3x+4y ) i + (6y-z) T +(x-2) k) -
Lual-z A et uAlell wellol faomcuz Q. (Give the answer in detalls)

1. wtd2ol 35dlsta o uRua Al Aui Hadl SLall WE2Y2 Yells Ie
SLAl aGeye @Qxycls of RMS Y& I, o Y2 ROl (Draw Half Wave

—L
.

Rectifier Circuit diagram obtain equation for DC output Current I3, and rms
value of output current ;)

2. L-C (3eez ofl amer wdl Rue s Y2 dRel. ( Explain L-C filter and derive
the equation of rlpple factor)

B 23dctell usIlou o clLod uuﬂ (Give MCQ answer) _

1. T.UF. Y3 old cull. ( Give full form of T.U.F.)



2. uddRol wlstaRe{l stdetmcl ... B. Efficiency of Half Wave Rectifier is
(a) 0.406 (b) 0.203 (c) 0.812 (d) 0.693
 —(§c2d] ARy [and ... 8. (Voltage Regulation of a 7 —filter is ... )
(a) wlolq] (poor) (b) HEAM (Medium) (c) G (high) (d) 58l ot asta
None of this

4 e, A ARl Aelesl B, ( ........ are well known Semiconductor)
(@) S;& G, (b) Ni&C, () Na&F. (d) sél o st (None of this)

ST A utaz e e Lt e P

O{illdl °o’€l.l0{ C—lbﬁ (erte answer to all)

1. MQdQOl %86‘13[212 Tt [QS Sotcla] e %{ll%’lcu (Explam peak inverse
voltage for half wave rectifier.)

2. TUF ¥l (Explain TUF)
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